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Answer any Five Questions
All Questio"t a_u::, Equal Marks

What are the idifferent typbs, of Plant layoui?, 'Fxplain Prciceds.layout

example, and discuss its advantages over Product layout'

Explain the design principles of Functional Layout'b)

b)

layor$,IP+,7]

Develop a
are shown

: i: : ^"

requirements

Exptain briefly the CORELAP algorithm. Ie+6]

Distinguish

b) Explain the different types of Material Handling Equipment, atld their applications'
[7+8]
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Department Area (in Sq.m) Number of Unit Squares

I 100 30

'_ /: 75 {"'.'., i'.'"'"
20 i";,."': :,,".i i

153 55

4 100 30

5 75 20

6 100 30

7 100. 30

ifotal .'"' , 605" 175

for the",gslection of

[8+7]

4.a)

2.a) Discuss the diftlercnccs bctr.vcen Procluct La-rroul ancl Process Lavout.

b), t.""P"plain the'problems in the.i

below:

: :1 !-*J----
ti): i'::gorrtt.".
."'. '.."Layout. :"'r,"' "-' "1..r ,^..1 i.".,
;y, i'':[f;;tJ". tna:i#Oblem of atteiciiirrg a set of fadilities to a set with,ihe'6ost

,t-OnSlggI tIIEr[-ntJulvrll l-l 4lluvorur6 4 ovL vr ^*"*-: '--- :_.-.-- -- .

being a function otthe distance uria no* between the facilitiesl pl" th: 
"":11,it::1?::d;"#-"Hii;;b"il;l iiii i, 

"certain 
tocation. rhe objective is tg as:lqn ,"r*.li:'l]1l;;il;r;;;'J"h ffi th" ioial cost is-minimized - How do you solve this bv a"u931*.

assignment model? [7+8]
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